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Maths Secrets  

7 MUST KNOW QUESTIONS TO CONQUER  

ALGEBRAIC FRACTIONS 
1 (a) Simplify the expression 

24𝑥2𝑦3

2𝑎𝑥
÷

4𝑦2

3𝑎
. 

 

 

2 Express as a single fraction 
5𝑥+6

2𝑥2−𝑥−6
−

2

𝑥−2
. 

 

 

3 Simplify 

 

(a) 
2𝑎2

5𝑏𝑐
÷

14𝑎

15𝑐
 

(b) 
36

2𝑝−14𝑞
×

𝑝2−49𝑞2

3
 

 

 

4 (a) Express as a single fraction in its simplest form, 1 −
2𝑓−𝑔

𝑓+3ℎ
. 

(b) Simplify 
𝑦2+2𝑦−3

2𝑦−10
÷

(𝑦−1)2

𝑦−5
. 

 

 

5 Simplify the following algebraic fractions. 

 

(a) 
𝑏

7𝑐2 ×
2

𝑏𝑐
÷

1

𝑐2. 

(b) 
4𝑥2−𝑦2

2𝑥+𝑦
×

5

𝑥2−6𝑥−7
 

 

 

6 Simplify 
7𝑥

2
−

3(4−2𝑥)

5
. 

 

 

7 Simplify 
𝑥

𝑥2−4
−

2

2−𝑥
. 
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Answer Key 

1 Solution: 

24𝑥2𝑦3

2𝑎𝑥
×

3𝑎

4𝑦2
 

= 9𝑥𝑦 

Ans: 9𝑥𝑦 

 

2 Solution: 
5𝑥 + 6

(2𝑥 + 3)(𝑥 − 2)
−

2

𝑥 − 2
 

5𝑥 + 6

(2𝑥 + 3)(𝑥 − 2)
−

4𝑥 + 6

(2𝑥 + 3)(𝑥 − 2)
 

5𝑥 + 6 − 4𝑥 − 6

(2𝑥 + 3)(𝑥 − 2)
 

𝑥

(2𝑥 + 3)(𝑥 − 2)
 

Ans: Shown 

 

 

3 Solutions: 

 

(a) 
2𝑎2

5𝑏𝑐
×

15𝑐

14𝑎
=

3𝑎

7𝑏
 

 

(b) 
36

2𝑝−14𝑞
×

𝑝2−49𝑞2

3
 

    =
36

2(𝑝−7𝑞)
×

(𝑝+7𝑞)(𝑝−7𝑞)

3
   

    = 6(𝑝 + 7𝑞)  

    = 6𝑝 + 42𝑞  

 

 

Ans: (a) 
3𝑎

7𝑏
 (b) 6𝑝 + 42𝑞 

 

 

4 (a) 1 −
2𝑓−𝑔

𝑓+3ℎ
 

     =
𝑓+3ℎ

𝑓+3ℎ
−

2𝑓−𝑔

𝑓+3ℎ
 

      =
𝑓+3ℎ−2𝑓−𝑔

𝑓+3ℎ
  

     =
−𝑓+3ℎ+g

𝑓+3ℎ
  

 

(b) 
(𝑦+3)(𝑦−1)

2(𝑦−5)
×

𝑦−5

(𝑦−1)2 

     =
𝑦+3

2(𝑦−1)
  

 

 

Ans: (a) Shown (b) 
𝑦+3

2(𝑦−1)
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5 Solutions: 

 

(a) 
2

7𝑐
 

=
𝑏

7𝑐2 ×
2

𝑏𝑐
÷

1

𝑐2  

=
𝑏

7𝑐2 ×
2

𝑏𝑐
× 𝑐2   

=
2

7𝑐
 

 

(b) 
5(2𝑥−𝑦)

(𝑥+1)(𝑥−7)
 

=
4𝑥2−𝑦2

2𝑥+𝑦
×

5

𝑥2−6𝑥−7
  

=
(2𝑥+𝑦)(2𝑥−𝑦)

2𝑥+𝑦
×

5

(𝑥+1)(𝑥−7)
  

=
5(2𝑥−𝑦)

(𝑥+1)(𝑥−7)
  

 

 

Ans: Shown 

 

 

6 Solution:   
7𝑥

2
−

3(4−2𝑥)

5
 

=
7𝑥

2
×

5

5
−

3(4 − 2𝑥)

5
×

2

2
 

=
35𝑥

10
−

6(4 − 2𝑥)

10
 

=
35𝑥 − 6(4 − 2𝑥)

10
 

=
35𝑥 − 24 + 12𝑥

10
 

=
47𝑥 − 24

10
 

 

 

7 Solution: 
𝑥

𝑥2 − 4
−

2

2 − 𝑥
 

𝑥

𝑥2 − 4
+

2

𝑥 − 2
 

𝑥 + 2(𝑥 + 2)

(𝑥 − 2)(𝑥 + 2)
 

3𝑥 + 4

(𝑥 − 2)(𝑥 + 2)
 

 

 

 


